Econ 001: Midterm 1 Answer Key
October 13, 2009
Instructions:
This is a 60-minute examination.

Write all answers in the blue books provided. Show all work. Use diagrams where

appropriate and label all diagrams carefully.

Write your name and your Recitation Instructor's name in every blue book that you use.

This exam is given under the rules of Penn's Honor system.

All blue books, blank or filled, must be handed in at the end of this exam. No blue books may be taken from the room.

The use of Programmable Calculators is in violation of Departmental rule. It is

strictly forbidden!

The Midterm has 2 parts.

Part 1 consists of 8 multiple-choice questions. Please use the first page of a blue book to record your answers.

Part 2 consists of 2 short answer questions. Please use a separate blue book for each.

Part I: Multiple Choice Questions (4 points each/32 points total):

1. Adam entered a raffle and won a ticket to a Phillies playoff game. Unfortunately, the game is scheduled for the same evening as Penn Soccer Teams game. Adam can see the Soccer team for free and values it at $25. The resale value of the Philly ticket is $25 and he values that game at $40. What is the opportunity cost of going to the Philly’s game? 

a. $90

b. $65

c. $50

d. $25

2. In a world with trade, countries specialize in those goods that:

a.
their habitants prefer to consume in large quantities.
b.
they can produce with fewer inputs per unit.
c.
have the highest world price.
d.
in which they have a comparative advantages.
3. The table shows Hemo’s & Bui’s sandwich production capabilities per hour. Which statements are true?

	
	Cheese Steak
	Egg and Cheese

	Hemo
	10
	10

	Bui
	8
	4


i.
Hemo has a comparative advantage for Cheese Steak

ii.
Bui  has a comparative advantage for Cheese Steak

iii.
Hemo has an absolute advantage for Cheese Steak

iv.
Bui  has an absolute advantage for Cheese Steak



a.
i and iii



b.
i and iv



c.
ii and iii



d.
ii and iv

4. Suppose the market demand curve for Vista system is Qv=100-2Pv+Pxp, where Pv is the price for Vista, and Pxp is the price for Windows XP. And we know that the supply curve is upward sloping. 


What we can conclude for Windows XP and Vista?

a. Both of them are normal goods.

b. They are substitutes.

c. Both of them are inferior goods.

d. They are complements.

5. In many countries, having domestic service at home has become less common, despite the fact that this is a normal good. Using a demand and supply framework, this fact can be explained by:

a.
the income in the households that hire domestic service has increased.

b.
the alternative income possibilities for women that work as domestic service have increased.

c.
the price of appliances and frozen food has decreased over time.

d.
(a) and (c)

e.
(b) and (c)
6. Consider a market for downloads of the song “Gracias a la Vida” of Mercedes Sosa where the demand is downward sloping and MC is constant and equals 0.   

You are asked to compare between two pricing policies.

I. Setting a price of 0 for every download 

II. Charging from each consumer a price equal to his willingness to pay for the download.

Choose the right answer:

a. Consumer Surplus (I) > Consumer Surplus(II)  & Total Surplus (I) > Total Surplus(II)
b. Consumer Surplus (I) < Consumer Surplus (II) & Total Surplus (I) > Total Surplus (II)

c. Consumer Surplus (I) > Consumer Surplus (II) & Total Surplus (I) = Total Surplus (II)

d. Consumer Surplus (I) < Consumer Surplus (II) & Total Surplus (I) = Total Surplus (II)
7. Sal’s Pizzeria raised their prices from $2 to $2.50 for a slice of pizza. His revenues did not change. This means that the elasticity of demand is:

a. Unit Elastic

b. Elastic

c. Inelastic

d. We do not have enough information to answer this question

8. Assume that the demand for labor is given by  W(D)=140-2L(D) and the supply of labor is given by W(S)=20+L(S) where W is the daily wage and L is the number of workers.   If the government sets a ceiling of W=30 then:

I. 10 workers will be employed.

II. 45 workers will be unemployed

Choose the correct answer

a. Statement I is correct

b. Statement II  is correct

c. Both statements are correct

d. None of the above

9. If the world price of tires is lower than the USA equilibrium price, setting a tariff on the import of tires will:

a. Increase consumer surplus.

b. Decrease consumer surplus.

c. Raise the price of tires sold in the USA

d. Increase producer surplus.

e. a, c & d are correct.

f. b, c & d are correct.

Answer Key:

1. c
2. d
3. c
4. b
5. e
6. c
7. a
8. a
9. f
Part II: Short Answer Questions (34 points each/68 points total):

Please use a separate blue book for each question.

Explain answers carefully using graphs where appropriate. Your grade depends on your explanation as well as your answer: so show your work!

Keep your answers short! You only need a sentence or two per section.
Q1.

The table below shows the yearly output of flowers or dishes per worker in three European countries. Please use this information when answering the questions below. 

	
	Netherlands
	Germany
	Ireland

	Flowers (per worker per year)
	100
	120
	40

	Dishes (per worker per year)
	40
	200
	10

	Workers
	2
	10
	2



a.
Draw the Netherlands’ PPF with dishes on the horizontal axis.

Answers:
General Comment: For many of the answers below it is helpful to calculate the Opportunity Cost of dishes. Though this earns no points I am adding it here for ease of explanation. 

	
	Netherlands
	Germany
	Ireland

	Flowers (per worker per year)
	100
	120
	40

	Dishes (per worker per year)
	40
	200
	10

	Workers
	2
	10
	2

	Opportunity Cost of 1 dish (in flowers)
	2.5
	.6
	4


Answers:

Linear PPF passing through points (0,200) and (80,0) 

Points: 4

Axis: 1

Straight: 1

Each point: 1

(If students do not multiply by number of workers 2/4)

b.
Can the Netherlands consume 90 dishes? Explain graphically.

Answers:

No. It is outside the PPF.

Points: 4
For explanation: point outside PPF graph.

c. 
Should Netherlands and Germany trade? If so, suggest a price. If not, why not? Explain your reasoning.

Answers:

Yes, because they have different opportunity costs.

They will both gain from and therefore agree to any price between their two opportunity costs:

2.5 flowers/dish>P> and 0.6 flowers/dish

Points: 6
Mention of Opportunity Cost/Comparative advantage/Gains from trade:2
A price between O.C.:2
Correct prices: 2 each

d. 
Assume that the world price is set at 2 flowers/dish. Add the Consumption Possibilities Frontier to the PPF graph for the Netherlands assuming they trade in the world market.

Answers:

Linear CPF passing through (0,200) and (100,0)

Points: 6
Straight: 2
Outside PPF (except 1 point): 2
Each point: 1
4/6 if don’t multiply by workers.


e. 
Can Netherlands consume 90 dishes with trade? Explain graphically.

Answers:

Yes.  It is inside the CPF.

Points:3
Points for explanation.

f. 
Ireland has voted to join the European Union. The Irish feel that this will allow them to gain from specialization with countries such as Germany. Draw the joint PPF of Ireland & Germany (but not the Netherlands).

Answers:

Kinked PPF with points (1280,0), (2000, 80) and (2020, 0).

Points: 5
Kink: 2
Each point :1
g. Suppose the Union of Ireland & Germany is considering trade with the Netherlands which (in this story) is not yet part of the Union.  What are the possible prices for which trade will take place and what can we say about each country’s choice of production?

Answers: 
The price has to be between the Netherlands O.C. & O.C. of Ireland and Germany. As the O.C. of the Netherlands is between these two countries, any price range between .6 & 4 will allow for trade. 
If the price is between .6 & 2.5 Germany will produce dishes, Ireland  & the Netherland flowers. Otherwise the Netherlands will produce dishes.
Points: 6
Understanding that the Netherlands’ O.C. is between the two others:2

.6<P<4: 2 points (only one if don’t understand that P is the whole range)

Ireland flowers & Germany dishes: 1 point
Understanding that the Netherlands’ production will depend on pricing: 1 point
Q2. 
The Car Allowance Rebate System (CARS), colloquially known as "Cash for Clunkers", is a US$3 billion U.S. federal program intended to provide rebate to U.S. residents to purchase a new, more fuel efficient vehicle when trading in a less fuel efficient vehicle in order to boost the auto sales which declined due to the recession.

This question asks you to analyze the market for fuel-efficient cars and the effect of the recession on this market. It also asks you to evaluate the government intervention in this market.   

Please answer this question graphically. We expect a series of large, clear, well-labeled 
graphs to answer each of the following parts. Use multiple colors!
a. Due to the recession the price of cars has fallen by some 10 percent. What does this imply about this product?  
Answer:
As incomes have dropped this is consistent with a shift in of the demand curve which suggests that cars are a Normal good.
Points: 4
Normal good: 2

Explanation: 2

b. Draw a supply & demand graph for fuel-efficient cars. Mark clearly the equilibrium after recession, with an equilibrium price (P*) and quantity (Q*). Show the consumer surplus, producer surplus and total surplus. Is this efficient? Explain why or why not.

Answer:
Usual graph expected here with C.S. the area between D curve and the price & P.S. the area between price and the S curve.

This outcome is efficient because MC=MB.
Points: 7
Axis, S & D labeled: 1 point
Equilibrium: 1 point

C.S.: 1
P.S.: 1
Total Surplus: the sum of the two: 1

Efficient: 1

Explanation relating to Maximizing Surplus/no DWL/MC=MB: 1
We can interpret the “Cash for Clunkers” policy as a subsidy of $5000 per fuel efficient car.

c. Analyze graphically the effect of the “Cash for Clunkers” policy on the fuel-efficient car market. Mark on your graph the new equilibrium price for consumers and for Producers. What happens to the quantity of cars sold?
Answer:
Supply curve “shifts” downward by $5000.  The new equilibrium is at the intersection of S’ & D. Price (PD) to consumers is lower.  Price (PS) to producers is higher.  Q higher.
Points: 6
Shift of S down: 2

Price to consumers lower: 1
Price to producers higher: 1
Quantity bigger: 2
Note: if a student shifted D curve out and answered correctly: full credit.
d. Show the consumer surplus, producer surplus and total surplus after the government intervention on your graph from part (c).
Answer:
CS above consumer price, below Demand.  PS below producer price above “original” supply curve. 

Total Surplus=C.S. + P.S. –Tax expenditure.
Points: 6
2 each.

e. What area in your graph corresponds to the “US$3 billion dollars” the government spent on this program?
Answer:
Rectangle bounded by the two prices (equal to $5000) and between 0 and new Q.
Points: 3
f. Senator X states “This new equilibrium (the equilibrium after “Cash for Clunkers” policy) is efficient” Explain graphically why he is wrong.
Answer:
Not efficient.  DWL triangle bounded by Q* and new Q, Supply, Demand.
Points: 4 

Not Efficient: 1

Explaining why inefficient by referring to DWL or to the fact that at new Q MC>MB: 3
g. Suggest a case where Senator X is correct. In this case, do the subsidies achieve the stated goal of the program as listed in the introduction? Show graphically.
Answer:
If either demand or supply were perfectly inelastic there would be no change in output and thus no DWL, so the subsidy would not be inefficient. Unfortunately, if quantity does not change the goal of the program “to boost the auto sales which declined due to the recession” will not be achieved.
Points: 4
Either demand or supply inelastic:2 (1 if no graph)
Does not achieve goals: 2 (1 if no graph)



























